Number of Events

=
O

Data
sig : 100%

10
M(b) (GeV)

15




Number of Events

Data
sig : 100%

.30.

TS
b p. (GeV)

.50.




Number of Events

=
O

Data
sig : 100%

N
100

sumPt (GeV)

ol
150

]
200




Number of Events

Data
sig : 100%

b @ (radians)




Number of Events

Data
sig : 100%

10

P (GeV)

20




Number of Events

1b - Data

j sig : 100%
2 i .
|
0 10 20

clusteredObjectsRecoll p. (GeV)



Number of Events

1b

Data
sig : 100%

b eta




Number of Events

1b

Data
sig : 100%

0
b detEta




Number of Events

15

10

=
O

Data
sig : 100%

uncl P (GeV)

05




